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CORPORATE ACCOUNTING-II
Paper-BC-401

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
comprising five short questions of four marks each.
Attempt any four questions from remaining eight
questions. These four questions carry equal marks.

e : FHA U A KU T G TF Afed ? o
TR-9R R & T oY Y wihe €1 99 e e o
¥ ST AR 9T HIWU 3 =90 YT B Sk FEE 2

1. Compulsory Question (W—W)
Answer the following in short : (5%4=20)

frefafed & s 959 ¥ T ¢
(a) Explain the calculation of capital employed while valuing
goodwill.

a1 Joaihd wd 999 e USH shi ITom
HHARUI

(b) Discuss any five factors affecting the valuation of shares.
IR & eAIRT i YAIfad HA At =l uter wRe
1 ==l HIfS
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(c) Cost of Control and Minority interest.
0 &t o SR eI el
(d) Cumpulsory winding up.
e FHoA|
(e) Rebate on Bills Discounted.

et foe W g2l

2. Explain fully, taking imaginary illustrations, the concept
of "Super Profit". How is Goodwill valued on the basis
of Super Profits?

FHTeqTh FIal ! od gL YW Uik HT TTUROT Hl
0 WE ¥ HEeAUl W Yifhe & ¥R W TEfad &I
i &y fhan S 22

3. The paid-up share capital of a company consists of 2000,
5% preference shares of Rs. 100 each, and 4,000 equity
shares of Rs. 100 each. In addition to a fixed dividend of
5%, the preference shareholders are also entitled to participate
in the profit up to 4% afrer payment of a dividend of 10%
on the equity shares. Any surplus profits being available
will be given to equity shareholders.

The annual average profits of the company are
Rs. 1,00,000 after providing for depreciation and taxation
and it is considered necessary to transfer Rs. 6,000 per
annum to the reserve fund. The normal rate of dividend

expected on the preference shares is 8% and that on equity
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shares is 10%. Work out the value of each preference share
and equity share in the company on the basis of the dividend

yield method.
T HEAT HT Fehal TR ST F 2000, 100 T & 5%

FF IR AR 100 T F 4000 s TR 1 5% ®
ffvea araler & oTemEn, SFal ae YRRERE iRt
I W 10% S AW & qIAE & 9K 4% Tk h g §
G & % EhaR &1 ST B ol TeRdll oft srfueie @y
1 st TRyl 1 fean s

ToIgM 3R HUUH USH HH H 9% kA H AMEH
T T 1,00,000 TF T IR omfera fafy ¥ yfa o
6,000 T TR AT Taedsdh T Sl el o
TRl T STURT SN B W R 8% © IR et v
W 10% T AE SIS UG F MER W A B A%
Il SR IR sfEdl R % ged &1 oM W (15)

4. What Information, as per the Companies Act, 2013 is required
to be attached to the balance sheet of a holding company in
respect of each of its subsidiary companies? How

consolidated Balance sheet can be prepared?

FEAE sifufed, 2013 & IR, 3O T HEEH
FIA B G99 § TH Bifee HEA F Sog e § wE-w
SR T i i SAEvTRdl 8| Thigd Tefq faero

fohd R TOR fRan ST el 22 (15)
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5. Give a specimen of Bank's Balance Sheet on the basis of

Imaginary figures, according to Banking Companies Act.

dfepT FHot Afufem % oUR wreufie kgl & SMHR
W % H g TF w1 Th A9 dfE) (15)

6. Sona Limited went into voluntary liquidation. The details

regarding liquidation are as follows :
1. 2,000, 8% Preference shares of 100 each, fully paid.

2. Class A — 2,000 Equity shares of Rs. 100 each, Rs. 75
paid-up.

3. Class B - 1,600 Equity shares of Rs. 100 each, Rs. 60
paid-up.

4. Class C — 1,400 Equity shares of Rs. 100 each, Rs. 50
paid-up.

Assets including machinery realise Rs. 5,37,400. Liquidation

expenses amount to Rs. 15,000. There is a loan of

Rs. 50,000 which is secured against machinery (which

realised Rs. 80,500). Salaries of four clerks for four months

at the rate of Rs. 6,250 per month and salaries for Four

Peons for three months at the rate of Rs. 2,000 per month

are outstanding. Other creditors are worth Rs. 87,400. Show

the Liquidator's final Statement of Account.
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g fafee wfess aiRems o =en @ oRews %

Wﬂﬁﬁlﬂ'{m%w%:

1. 2,000, 8% Y&® 100 & Ia@ IR, [ e 9
TTAE|

2. FAM T - 2,000 3R IRER 100 T T, 75 T
TE- 37|

3. F™ @ - 100 T & 1,600 SR IR, 60 T
TE- 37|

4. FAE H - 100 T & 1400 FFREE TR, 50 T
Je-27a|

e afed gmfa 537,400 99 9ge w21 qREETE

T # R 15,000 T ? 50,000 TG HT KO 7 WA

T % feems qfem ® (FS9 80,500 T8 1 agef

ge) IR Tafyepi &1 IR W% &1 99 6,250 T3 Gfawme qen

IR FIAT HT TF HE HT 2,000 T IHE T TR

Bl o TSR i HIEA 87,400 T B| UNEHNTH & @

1 Af<aq faerm fe@m) (15)

7. Give a proforma of the Revenue Account of Life Assurance
Company along with necessary schedules, with the help of
imaginary figures.

T Staq S &9 & T @ R TH GEEI, STeRasw
syl & e, Heufie gl &1 FeEd ¥ 31 (15)
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8. The following balances appeared in the books of a Fire

Insurance company as at 31st March, 2018 :

Rs.
Expenses of management 2,31,900
Commission 2,27,000
Claims Paid 4,30,000
Loss of Exchange 5,000
Bad debts 100
Claims outstanding on 1.4.2017 5,20,000
Reserve for unexpired risk on 1.4.2017 3,08,700
Additional reserve on 1.4.2017 25,000
Premium 8,76,000
Reinsurance premium paid 30,000

Prepare in a prescribed form the Revenue Account and
Profit & Loss Account for the year ended 31st March, 2018,
after taking the following information into consideration
(Rs. in '000) :

(i) Claims covered under re-insurance were Rs. 10,000.

(ii) Commission due on re-insurance premium paid @ 15%,

were not yet recorded in the books.

(iii) Premium outstanding at the end of the year was
Rs. 20,000.

(iv) On 31st March, 2018 Claims outstanding were
Rs. 3,04,600.
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(v) Additional Reserve is maintained as before.
(vi) Create a catastrophe reserve Rs. 38,800.

(vii) Use imaginary figures as regards claims paid to
claimants in Indian and outside India and premium

derived from business affected in and outside India.

31 W, 2018 H TH AMA W1 FEA BT TR H
frafafea v e fTu .

PECE R IC ] 2,31,900
TR 2,27,000
P fehe T <@ 4,30,000
TFIES HI I 5000
©d e 100
1.4.2017 ! F&HMET T 5,20,000
1.4.2017 W IO Wifem & fau aRfer@ 3,08,700
1.4.2017 &1 sifafe e 25,000
it 8,76,000
T feran T A diftem 30,000

31 @, 2018 1 TH T8 % fou TSTE @ SR e R

B orer Tk Tauiftd &9 # SR &, frefafed SHe &6l

=M H W g (% '000 H) :

(i) YIS % ded HeR fHT T IE 10,000 T

(i) 15% &t R ¥ gram feu U qEeta dwifem | 3
FHIE ot TF dfedl | 9 AET fHAr W em

(i) o9 & 37q § TR WHEIH 20,000 . ol
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(iv) 31 ¥, 2018 &I &N A 3,04,600 T &l

(v) afdfe e 9edl &1 @@ 90 @ S 2l

(vi) ofusr fisd sMe-38,800 9|

(vil) 9RATT IR 9RA % 9l AR hl aE fohy T <@t
AR R § 3R 9Te gHfea e @ urw it
a9 o HIcHh TR HT ITAN H (15)

9. What is Liquidation of Companies? What are the various
methods for the winding up of a company? Also discuss the

methods of calculating the liquidator's remuneration.

IREETTE HT S HECE T IRTHNI 1 27 HEA B
oA & fau fafa= afe = 22 @i @, wRguus #
TR T MU %k dleRl WO ==l HL (15)
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